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Instructions to the Candidates :

1) Candidate has to note the Roll Number in the space provided above
immediately after taking the Question paper from the invigilator.

2) Each Question Paper contains four parts :- Part A — General Knowledge,
Part B — Mathematics, Part C(i) = English, Part C(ii) — Telugu

Part A & Part B are supplied in Bilingual in English and Telugu. Canﬁidate can
chu-qse gither Telugu or English . Part C(i) & Part C(ii) are supplied in one
Language. All Candidates have to answer C(i) and C(ii).

3) Part A and Part B are also available in Hindi separately. At the request of
the candidate Part A & Part B in Hindi will be supplied separately.

4) Each Part contains 25 questions and all questions carry 1 mark each.
Candidate has to answer all the questions using OMR Answer Sheet.

5) Candidate can answer the four parts in the order of his/her choice.

6) Candidates are allowed to take the Question paper and carbon copy of OMR
Answer Sheet to their home after completion of the Examination.
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GENERAL KNOWLEDGE SET -A PART-A (25 Marks)

The Indus Valley Civilization specialized in
A) Town Planning  B) Architecture C) Craftismanship D) All of these

The Staple food of the Vedic Aryan was
A) Barley and Rice  B) Milk and its products
C) Rice and Pulses D) Vegetables and fruits

The Preamble of our Constitution reads India as-

A) Sovereign, Socialist, Secular, Democratic Republic
B) Sovereign, Democratic, Socialist, Secular Republic
C) Socialist, Sovereign, Democratic, Secular Republic
D) Democratic, Sovereign, Secular, Socialist Republic

We all know child labour is totally banned in India (Article 24). As per the Constitution of
India, ‘Child’ means a person who has not completed-

A) 14 years of his/ herage  B) 16 years of his / her age

C) 18 years of his / herage D) 20 years of his / her age

How many Fundamental Duties are in the Indian Constitution?
A) Nine B) Twenty C) Twelve D) Eleven
In India, Planned economy is based on-

A) Gandhian System B) Socialist System C) Capitalist System D)Mixed Economy System

Which State of India has the largest area?
A) Uttar Pradesh B) Madhya Pradesh  C) Maharashtra D) Rajasthan

Which bank was earlier called the ‘Imperial bank of India’?
A) RBI B) SBI C) UBI D) PNB

Mantle of the earth’s crust is-

A) A layer with the composition of solid mineral matter

B) A layer with the composition of fluid mineral matter

C) A Layer with the composition of semi-fluid mineral matter
D) A layer with the composition of gaseous mineral matter

The Oldest Mountains in India are-
A) Vindhyas B) Satpura C) Himalayas D) Aravallis

Which of the following types of soil are found in India?
A) Black Soil B) Red Soil C) Alluvial Soil D) All of the above

The Tropic of Cancer passes through-
A) Uttar Pradesh B) Maharashtra C) Andhra Pradesh D) Madhya Pradesh

Coffee is largely produced in -
A) Assam B) Kerala C) Karnataka D) Tamil Nadu

Ampere is the unit of-
A) Current electricity  B) Magnetic Field  C) Electric Charge D) Resistance



15. The First Computer was programmed using-
A) Assembly Language B) Machine Language C) Spaghetti Code D) Source Code
16. Storage which stores or retains data after power-Off is called-
A) Volatile Storage B) Non-volatile Storage
C) Sequential Storage D) Direct Storage

17. Bile is secreted by-
A) Liver B) Pancreas  C) Kidney D) Stomach

18. Who has written the book ‘War and Peace’?
A) Khushwant Singh  B) MichailSolokhov C) Leo Tolstoy D) Saul Bellow
19. Find Qut the odd one-

A) Nobel Prize B) Magsaysay Award
C) Commonwealth Writers Prize D) Inanpith Award

20. “‘World Post Day’ celebrated on-

A) 7" April B) 1" January  C) 14" November D) 9" October
21. Which one of the following Grand Slam title is also known as ‘Roland Garros® title in

Tennis-

A) Australian Open  B) French Open C) Wimbledon D) U.S.0Open

22. Which country is hosting the World Cup Football in the year 20187
A) United States B) Spain C) Russia D) Qatar

23. Find out the missing number-
5, 10, 13, 26, 29, 55p01p
A) 122 B) 125 C) 128 D) 64

24. Deepak starts walking straight towards east. After walking 75 metres, he turns to the left
and walks 25 meters straight. Again he turns to the left, walks a distance of 40 meters

straight, again he turns to the left and walks a distance of 25 meters. How far is he from the
starting point?
A) 140 meters B) 50 meters C) 115 meters D) 35 meters

25. If PETS=60, then BICK=?
A) 28 B) 25 C) 27 D) 30
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MATHEMATICS SET - A PART-B (25 Marks)

1. If the sum of two positive numbers is 25 and their product is 144, then the
difference of these numbers is

Al 3 B] 5 c] 7 D] I



2. V80+ 3+V245-V125=
Al 1045 B] 2V5 C] 20+5 D] None of these.

3. The value of 52,/857/2116 is .
Al 6 Yy B] 7 "W Cl 8" D] 5 '

4. The ratio of two numbers is 3:4 and their LCM is 48. The sum of the two numbers is
A] 32 B] 28 C) 26 D] 24

5. Find a number such that if 5,15 and 35 are added to it, the product of the first
and the third may be equal tothe square of the second.
Al 10 B] d C] 6 D] 5

6. Three numbers are in the ratio of 1:2:3. The Sum of their cubes is 121500. The numbers are
Al 15, 30, 45 B] 30, 45, 15 C] 7, 14, 21 D] None of these

7. What is 5%—4"%+27%-1" equal to

Al 3 B] 4 C] 5 D] =
8. Find the number whose square is equal to the difference between the squares of 6467 and 4683.
Al 4460 B] 4480 C] 3460 D] 4640
9, 78 % of 750 + 34 % of x = 30 % of 2630. Find x
Al 060 B] 600 ] 800 D] 750
10. In an examination, a student has to score 36% of the total marks to pass in the

examination. A student got 113 marks and failed by 85 marks. The total marks for the examination

Al 500 B] 550 C] 3635 D] 620

11.Every second person who died on the road in the accidents is Pedestrian. Every fifth

person who died on the road in the accidents is Cyclist. Find the other percentage of the
death on the road in the accidents.

Al 25 % B] 20 % C] 40 % D] 30%

12. The average temperature of Delhi in the 1% four days of a month was 37 °C. The
average temperature for the second, third, fourth and fifth day was 39 °%C. If the
temperatures on the 1%and 5™ day were in the ratio of 4:5, the temperatures on the
1*and 5 "day must have been

A) 32°C,40°C B] 30°C,40°C C] 33°% ,45°C D] 36°C,40°C.

13. 1'3:3%::1%:x. Then the value of x is
Al 14 B] 3% Cl 4% D] 6/

14. Tenyears ago Tarun was half the age of Brinda. If the ratio of their present ages is
3:4, what will be the total of their present ages ?
Al 30 B] 335 C] 37 D] 41

15. The wages of laborers ina factory has increased in the ratio 22 :25 and their
number decreased in the ratio 15:11. What was the original wage bill of the factory if the
present bill is Rs 5000 ?

Al Rs 7000 B] Rs 7500 C] Rs 6000 D] Rs 8000



16. Rihan sold a bicycle to Rajesh at 46 % profit. Rajesh spent Rs 40 on repairs and sold it to
Robert for Rs 1500.In this deal, Rajesh made neither profit nor loss. What is the cost price for
Rihan?

A]  Rs900 B] Rs960 C]  Rs 1000 D]  Rs 1060

17. A farmer bought 76 Cows, the price of each cow being the same. He then sold 20
at a profit of 15 %, 40 at a profit of 19% and the remainder at a profit of 25 % making a
total profit of Rs 26,280. The cost price of each Cow was

A] Rs 1000 B) Rs 1800 ' C]Rs 1500 D] none of these.

18. The Simple Interest on Rs 1650 will be less than the interest on Rs 1800 at 4 %
Simple interest by Rs 30. Find the time.

Al 2 Years B] 4 Years C] 6 Years D] 5 Years

19. What will be the Simple Interest on Rs 8000 for 2 years at the rate of Rs0.1 per
Rs 1000 per month ?

A] Rs 18.50  B] Rs 20.30 C] Rsl19.50 D] Rs 19.20

20. A florist makes a profit of 20 % even after giving a discount of 10% on the marked
price of an article. If the marked price of an article is Rs 500, what is its Cost Price ?
Al Rs 350 B] Rs 375 C] Rs 300 D] Rs 325

21. Shwetha, Syeda and Florina rented a house for 1 year. Shwetha shared the rent for 4
months with Syeda and Florina and then left. Syeda also left after next 4 months. What was
Florina’s share in the annual rent of Rs. 18000 ?

A] Rs 10000 B] Rs120000 ©C] Rs11000 D]  Rs13000

22.If 3 men or 6 boys can do a piece of work in 16 days, in how many days can 12
men and 8 boys do the same piece of work?

Al 6 days Bl  ddays C] 2days D] 3 days

23. Brijesh and Bhagat undertook a piece of work for Rs 200. Brijesh can do it in 6 days
and Bhagat in 8 days. With Razak’s help, they finished it in 3 days. How much is paid to Razak
then?

A]l Rs22 B] Rs25 C] Rs28 D]  Rs30

24.A man takes 6 hours and 45 minutes inwalking a certain distance and riding back.
He would have gained 3 hours by riding both ways. How long would he take to walk both ways?
A] 9 hrsl5 mts B] 8 hrs 45 mts C] 9 hrs 35 mts D] 9 hrs 45 mts

25. The Earth makes a complete rotation about its axis in 24 hrs. Through what angle
will it turn in 3 hr 20 mts ?

Al 60° B] 50° cy] 70° D] 90°

ENGLISH SET - A PART- C (i) (25 Marks)
Directions: In the following sentences, every sentence has been divided into three parts which are
marked ‘A’, ‘B’ and ‘C’. One of these parts may contain an error. Read each sentence carefully
and mark the part which contains the error. In case there is no error in the sentence, the answer is
.

01. A) A slight blunder B) while driving a car
C) can cause a serious accident D) No error.



02. A)}! have written a letter B} at him to his Delhi address
C) today D) No emror,

Directions: Read the following passape carefully and answer the questions given. At the end of the
passage there are five questions. FEach question is provided with four alternative answers and they
are marked as ‘A’, ‘B’, ‘C' and ‘D’. Out of the four alternatives, choose correct answer according
to the context of the passage,

English education, which was introduced in India in the earlier part of the nineteenth
century, established her cultural contact with the West. Prior to this, India had for centuries
remained in a state of isolation although in very early times she had sent out cultural missions to the
other Asiatic countries. India really began to borrow from the West and assimilate new ideas on an
extensive scale only after the British had taken up the direction of her educational policy. [tis true
that Western education at first exerted an unsettling influence on young men and led to errors in life
and conduct. They hated everything Indian, aped western manners and modes of life, and forgot
their glorious past. There were scholars who ignored modem Indian languages, avoided classical
[ndian literature, and made a fetish of speaking and writing English.

03. When was English education introduced in India?
A) In the twenticth century B) [n the later part of the nineteenth century
C) In the earlier part of the nineteenth century D) In the eighteenth century
04. When did India begin to borrow from the West?
A) After the British had taken up the direction of her educational policy
B) Before the British had 1aken up the direction of her educational policy
C) In the twentieth century
D) Mone of the above is correct
05. Wha did India send out to other Asiatic Countries?

A) Economic mission B} Military forces  C) Cultural missions D) None of these
06. Western education exerted an unsettling influence on

A} Oid Men B) Young Men C) Old Women D) Children
07. Young men forgot their

A} Glorious past B) Present C) Future D) Originality

Directions: [n the following questions, the first and the last part of the sentence are numbered as *1”
and “6°. The rest of the sentence is split into four parts and named *P’, ()", ‘R’ and *S’. These four
parts are not given in their proper order, Read the sentences and find cut which of the four
combinations is correct.

08. India has paid
to achieve freedom
and a permanent enemy
more than enough price
as it was divided into two countries
Has been created by this.

A) RPSQ B) QSPR C) PSRQ D) RSPQ

SO W

09. I. The Constiution of India
P. through the fundamental
Q. of expression

R.  right to freedom

i puarantees the freedom
6.  of the Press.
A)

PRSQ B) PRQS C) RPSQ D) QPRS



Directions: Given below are the sentences with blank spaces. You should fill in the blank space in

each sentence with the most appropriate preposition out of the four probable answers given after
each sentence.

10. There is no use going there at this time,
A) at B) in C) on D) of
11. You ought to abide this decision.
A) with B) of C) by D) from
12. He has great affection his grand children.
A) to B) after C) for D) with

Directions: Given below are the sentences with blank spaces. You are required to fill in the blank

space in each sentence with the most appropriate words out of the four probable answers given after
each sentence.

13. Baldev is my brother.

A) elder B) older C) eldest D) oldest
14. Have you got the edition of this book?

A)late - B) later C) latest D) None of these

15. Many students were fighting with
A) each other ' B) some other C) one another D) some another

Directions: Choose the correct meaning of these idioms and phrases out of the four responses ‘A’,
‘B*, “‘C’ and *D’-

16. In cold blood-
A) in full operation B) unintentionally  C) deliberately D) to chase

17. Ins and outs
A) no details B) finally C) major share D) full details

18. Trespassers will be :
A) Persecuted B) Prosecuted C) proscribed D) Prescribed

Directions: Choose the correct Synonym of the given word out of the four choices —

19. Amnesty
A) pardon B) penalty C) justice D) release

Directions: Choose the correct Antonym of the given word out of the four choices -

20. Abbreviate
A) abridge B) expand C) achieve D) accept

Directions: Choose the most appropriate one word substitute out of the four choices -

21. A medicine that kills germs
A) pesticide B) homicide C) regicide D) germicide

Directions: Choose the correct meaning of the word out of the four choices-
22. Adjourn

A) Put-off B) carry on C) without hindrance D) notify



Directions: In the following question a group of four words is given. One word in the group is
mis-spelt. Choose this mis-spelt word and mark it as your answer-

23. A) Continuous B) Normal C) mannerism D) Accummulate

Directions: Choose the correct word out of the four options ‘A’, ‘B’, *C’ and ‘D’ to complete the
following

24. Something is better than

A) nothing B) everything C) prevention D) man
25. Asblack as
A) coal B) marble C) crystal D) water
SET-A
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ArSS - G Ad AdWAD P oD o8 dod RIGRAD Tredrd pargrdaved’ HJD
AAFFHI0M Hioded. ©R) D) VD Jrdy D HITFHIW.

1. Loy sraban D Hard>DE aordn
(A) e3> B8\® (B) gdaimdsoda  (C) Gydar ddoydaa (D) 808
B80\H

2. BLIWHW D VErPIE aoriron

(A) pear sondl (B) &dair dondh  (C) &0ar sdnydl (D) mg
B30,
3. &dro Qracan d drdd8 aoirdn
(A)  posr do0y®A (B) agdar ddnydy  (C) sydatr sdoydd (D) seod
BE0OR
4, reoe Boby DHOGrde dY el Dorjaired SDydand, ©d D vwos*to BiHtud ?
(A) rtrogrdrvosse  (B) dsedogrdrvesde (C) S50 vosdo
(D) abivsrwostto
B “NBA0H0) Lod IHGIAVHL" D VLS TS SO TEnR?
(A) rrodFvesde  (B) dsoFdvesdo (C) doiwdrIrvestdo

(D) abiusrewostdo



6. "2060D0 BDVD DAJW HHAN” D weosTr IS STIrE6?

(A) ertriodrdvosrdo (B) @srdordoosdo (C) 2850 wosdo (D)
ablosTwostto

7 SOFoBGANS, AHIAHAD GHAFIIVMT GIrodLAD, ©d D voosdin ?
(A) 2d¥cdrd wwosdo (B) ﬁigms-ﬁn (C) addrvosrdo (D) orgpind eewosdo
8. D PErdjoriv Tvsvjen ID w8 Trdjorr I6\ED 08 Dordjorr D6yELB0ed ?
(A) iy oggo (B) doasugarge (C) Do 850 (D) D85
9. Do E(eS’ I dArDIZabEd dotrow ?
(A) 248 (B) Boch (C) 2 (D) mrenth
10. “Darche REOAD, HDod DD EIDM D" 8D 8 Ddodd Argin ?
(A) 98,2305 (B) 68,208 (C) R 00d (D) 58208
11. O CANAD D" “D “ w DOWD “D" SEAVA; “4" ‘D w HOD “B e,
dsrd¥rbd. 20 DIodé DdSHID ?
(A) 25¢g &¢0d (B) aded (C) aberdined (D) 35,8008
12 ‘Drwed’ Hh IaEd'd visver derddioran” ©dy TEES'D ardard)
tHBoSed ? '
(A) dsreo (B) g (C) vaswen (D) Serdd'sp
13. “Bare Bt Sods ADHANITC DEFrd” &' erdabinin 08 ?
(A)ddar (B) 8340 (C) 884 (D) dcorbawiro
14, “36'Dod pifdetio PLLLA WELLLrD” & ardabin A"
(A) 36" Hen (B) ) dotso (C) DL (D) st dso
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(A) Sotien (B) dorprdd (C) D¥jopo DFdo (D) dvedd
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(A) a=rzr (B) oy (C) Boradem e (D) DS D

& 206 T SAD, Iy rar 83w ar)dr hBodiod [D¥yen 17, 18 Hobain 19]

17. "2 wrddo vdsdwo DETD £65 Iroddhe 6. SFohw HBo wds
Aroirerded’ JodipHod Lded vdHodw I3d.”
(A) Boch (B) 2 (C) 2.8 (D) ~renid
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[A] d3)aD (B) 3€),a (C) s (D) TG
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23.  3g)d DVCded’ I Dorgen ddoardd ?

(A) Dary eoth (B) D8I (C) Desdared (D) D) ot
24. 0DDG O Vo> ?

(A) durdd (B) Frerdd (C) erod'® (D) dgrd
25, 9 DS Hor EdNorcd ?

(R) D'6 (B) S (C) 882 (D) e
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1. Dogr o  Irriogs pdise
(A) Do De9s (B) stmrew (C) da80e (D) D5Jyadn
2. 36 swo TY VDR VEPIND YT Co
(A) e S0B0od» Dabge  (B) dren Hwbaiw o &dydowwn
(C) Dotge wdosn rargen (D) stabdrden S80I Dogd
3. er0d Trarort POV GO BTV ccevrrinininnenn. TRJOT DO WD &
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(A) 14 Dodeyore Hdabiny  (B) 16 Rodehore Sy
(C) 18 DoddyTrey JabHAdy (D) 20 DodehTre HADRY
5. 68 TrarforioS D FEE Do Do) Jod ?
(A) S0 (B) =6 (C) DYoo (D)b6E o
6. 2088808’ BEFVSHE RS IR WErdo |
(A) mo0aR H§5R (B) Frdojara 5599 (C) dwecord 50 (D) g e9s 3100
7. 2r6S B80S’ 03 DG PTwlo SHAD oo D67
(A) aads DA% (B) Sogsy 0d% (C) SOTFOY (D) oragrd
8. (5683085° “RoDOANES er°joth D R AL T DeNBWAD erfo
(A) sb D (B)dn Do (Clawd 2 (D)o 20 D
9. Zir &dOBwo dlws), ZordrArdo (mantle) LD (crust)
(A) 3 e D3N 2rdd To (B) 8 adare vod &rdd T
(C) rig @b e Wied £rdd To (D) TraludHo ndzre MFeS &rdd T6
10. 2103 B3085" YU S DOLTE
(A) Dogsg (B) yéonor (C) rarociren (D) esor59



11. $00 orS" DESH BV PEBBFS” LYo .

(A) JBrddo (B) 283 (C) avoghder (D) 25y odw
12, som 0882 O oo Socor Tavod

(A) &6 pd%  (B) ooy (C) 08 DB% (D) Socs BT
13. 5°3 Eorr Docoid TvRo

(A) o (B) Sov (C) sgreos (D) 8ovr
14, ©odADS O B S, AT
(A) Doy pariro (B) ok 00 £go  (C) Dyd srdwen (D) Meren
15. DGO SoP§d) S0b IS B oo P'rro FTw
(A) 00 erofigE  (B) 1S eroiE (C) XyQEE (D) 6y EE
16. Dy 69D DD SUD GEPoT ) VDD GO
(A) Sops PFée  (B) o5 Jops Pda (C) b3Qubs Jée (D) 20§ Jd
17. 28 60) 28Dod o
(A) s*Fado (B) 200 (C) g Dotrew (D) sco
18. 6 o0& 2D (Jomry VRS I
(A) ©XgeS dofi (B) dpaned TSES. (C) dair &6 Frodo (D) oces 8’
19. & 300 °DS" DDDY 2 @) HBocsol
(A) Sads pi (B) rrdd v
(C)sand g wbypd (D) gravd oo (Jnanpith)
20. Do BJ B ByDo BODDIO

(A) 5 7 (B) 23501  (C) ddowth 14 (D) eo§exc> 9
21. §00 [Pole Jro S & BN D & Berol MBS ( Roland Garros ) o &ra
S TIVEY oV
(A) u“gﬂm.& Lo (B) Rod & (C) Doewd (D) oo D &
22. 2018 B e DD SN AGIBNE B
(A) ©200s° Doakwg Traren  (B) dyowd  (C) oy (D) 2erb (Qatar)
23*6::@.::::9%;:&@0& : 5,10,13,26,29,58,61,
(A) 122 (B) 125 (C)128 (D) 64

24. &8 HEXDDOT BTG DD D, 75 G EDD SUPES I DRYD
DBA 25 oed> AT HETC. SV VB JE DHD A0 40 e ArST AT,
200y A0 DD G0N 25 WG HAEPED. DD DHD FHIN Wod VB Jod GrGo
e ?

(A) 140 oo (B) 50 oeacd (C) 115 oesdd (D) 35 2wt



25. PETS = 60 eond BICK = ?
(A) 28 (B) 25 (C) 27 (D) 30

ticddo SET-A PART - B ( Mathematics) ardyen - 25

1.mmsm%um}9mzﬁmﬂugani44 o T Scdw

[A] 3 [B] 5 [C] 7 D] 11

2. 80 +3v245 —V125 =

A] 1045 . IB}2+S Cl20vVE§  [D] =32 =
3. 52, 857/2116 Dend

A] 6" [B] 7"4s [C] 8" [D] 5"

4. Dot Do D 3 1 4 HdaL TO LM, 48 VAR IV YA
[A] 32 [B] 28 [C] 26 (D] 24

5. 28 Roae 515 B0k 35 B Lrdr 5By VofuS'D A Mo Jrcd
o €0 Bocad Howy Gng) S8 RIFRAD BaDS ¢ Dopf O?

T

[A] 10 [B] 7 [C] 6 D] 5

6. urcd Domjen 1:2:3 ;A S e . o8 Dovro Dogdw 1.21.500l O &

[A] 15,30,45 [B] 30,45,15 [C] 7,14,21 [D] =dd ==

MR G — AV +22L- ' Iy o

[A] 3 (B]4 [C] 5 D] 2

B.aa“mmﬁmbaﬁmﬁdﬁ?m4533ubg-uﬁanémm.m-ﬁu

[A] 4460 [B] 4480 [C] 3460 [D] 4640

0. 750 & 78% + x & 34% = 2630 &' 30% wawd X Jwd ...
[A] 960 (B] 600 [C] 800 [D] 750

13
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